
Fri 26 Oct14) (Page 34)
Relation betweentonne] ofGriotsï amount offertilizer used
f[X)=.0.53x~t1.38X 4 0.14

f models the effectofamounts of fertilizer x/ l |looks- hectare
Ys

on the yieldof cant's(tonne)is.

models

a)Evaluate fix)FentrlitersXLlooks,heL)| _YieldTYCX)tYounes)
_

o|0.25| 0.5

I

0.140.51 /1.45
_

<0.6975TI 0.70
=



Howdo we round number?
0.51815
0.5182
0.518
0.52
o. 5
I

If The problem
doesn't say anything
give your answers
withjust 2 dewools.



HOMEWORK for today -
Exes.2 page 37_

.

N f={(in),12,3),(3191}
Domain(t)= |'Lisl }
R ange(4)= 2Bitl }
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Yes, itise fictionbecauseeach element of the
domainhasgI unique arrow
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2b) 5th(1171171) I |133), (3,0113,9)}Relation

Domain(g)={:2|Y
Rangeley) =}2,^P,QY}
No, it's not a functionbecauseelement 2 of

the domainhas QNWSComing out.
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